# SOME FURTHER PROPERTIES OF ANDRE-JEANNIN AND THEIR COMPANION POLYNOMIALS 

M. N. S. Swamy<br>Concordia University, Montreal, Quebec, H3G 1M8, Canada<br>(Submitted May 1998-Final Revision January 1999)

## 1. INTRODUCTION

In a recent article [4], the author defined two sets of polynomials, $u_{n}(x)$ and $v_{n}(x)$, by the relations:

$$
\begin{equation*}
u_{n}(x)=(x+p) u_{n-1}(x)-q u_{n-2}(x), \quad n \geq 2 \tag{1.1a}
\end{equation*}
$$

with

$$
\begin{equation*}
u_{0}(x)=1, u_{1}(x)=x+p-\sqrt{q}, \tag{1.1b}
\end{equation*}
$$

and

$$
\begin{equation*}
v_{n}(x)=(x+p) v_{n-1}(x)-q v_{n-2}(x), \quad n \geq 2, \tag{1.2a}
\end{equation*}
$$

with

$$
\begin{equation*}
v_{0}(x)=1, v_{1}(x)=x+p+\sqrt{q}, \tag{1.2b}
\end{equation*}
$$

where $q>0$, and showed that they are very closely related to two other sets of polynomials $U_{n}(x)$ and $V_{n}(x)$ defined by André-Jeannin (see [1] and [2]) by the relations

$$
\begin{equation*}
U_{n}(x)=(x+p) U_{n-1}(x)-q U_{n-1}(x), \quad n \geq 2, \tag{1.3a}
\end{equation*}
$$

with

$$
\begin{equation*}
U_{0}(x)=0, U_{1}(x)=1, \tag{1.3b}
\end{equation*}
$$

and

$$
\begin{equation*}
V_{n}(x)=(x+p) V_{n-1}(x)-q V_{n-2}(x), \quad n \geq 2, \tag{1.4a}
\end{equation*}
$$

with

$$
\begin{equation*}
V_{0}(x)=2, V_{1}(x)=x+p \tag{1.4b}
\end{equation*}
$$

In the same article, the author derived a few of the properties of the polynomials $u_{n}(x)$ and $v_{n}(x)$, as well as some interesting interrelationships. The purpose of this article is to derive further properties of these polynomials and their interrelationships. Since the modified Morgan-Voyce polynomials $\widetilde{B}_{n}(x), \widetilde{b}_{n}(x), \widetilde{c}_{n}(x)$, and $\widetilde{C}_{n}(x)$ defined in [4] result when $q=1$, we thus derive a number of interesting properties of these modified Morgan-Voyce polynomials.

Since the polynomials $U_{n}(x)$ and $V_{n}(x)$ were defined and a number of their properties were studied for the first time by André-Jeannin, it is appropriate to refer to them as the André-Jeannin polynomials of the first and second kind. The polynomials $u_{n}(x)$ and $v_{n}(x)$, which are closely related to the André-Jeannin polynomials, and which exist as real distinct polynomials only when $q>0$, will be referred to as the companion André-Jeannin polynomials of the first and second kind. We will now list a number of important properties of the polynomials $U_{n}(x), u_{n}(x), v_{n}(x)$, and $V_{n}(x)$ that are either known or easily derivable from the known properties, since these will be required in establishing the results of the remaining sections.
Simple Interrelations:

$$
\begin{array}{ll}
u_{n}(x)=U_{n+1}(x)-\sqrt{q} U_{n}(x), & \text { from [4]. } \\
v_{n}(x)=U_{n+1}(x)+\sqrt{q} U_{n}(x), & \text { from [4]. } \tag{1.6}
\end{array}
$$

$$
\begin{array}{ll}
V_{n}(x)=U_{n+1}(x)-q U_{n-1}(x), & \text { from [2] } \\
V_{n}(x)=u_{n}(x)+\sqrt{q} u_{n-1}(x), & \text { from [4] } \\
V_{n}(x)=v_{n}(x)-\sqrt{q} v_{n-1}(x), & \text { from [4] } \\
(x+p-2 \sqrt{q}) U_{n}(x)=u_{n}(x)-\sqrt{q} u_{n-1}(x), & \text { by induction. } \\
(x+p-2 \sqrt{q}) v_{n}(x)=u_{n+1}(x)-q u_{n-1}(x), & \text { from (1.6) and (1.10). } \\
(x+p-2 \sqrt{q}) v_{n}(x)=V_{n+1}(x)-\sqrt{q} V_{n}(x), & \text { by induction. } \tag{1.12}
\end{array}
$$

## Simson Formulas:

$$
\begin{array}{ll}
U_{n+1}(x) U_{n-1}(x)-U_{n}^{2}(x)=-q^{n-1}, & \text { from [1] } \\
u_{n+1}(x) u_{n-1}(x)-u_{n}^{2}(x)=q^{n-1 / 2} \Delta_{u}, & \text { from [4] } \\
v_{n+1}(x) v_{n-1}(x)-v_{n}^{2}(x)=-q^{n-1 / 2} \Delta_{v}, & \text { from [4] } \\
V_{n+1}(x) V_{n-1}(x)-V_{n}^{2}(x)=q^{n-1} \Delta_{u} \Delta_{v}, & \text { from [2] } \tag{1.13d}
\end{array}
$$

where

$$
\begin{align*}
& \Delta_{u}=x+p-2 \sqrt{q}  \tag{1.14a}\\
& \Delta_{v}=x+p+2 \sqrt{q} \tag{1.14b}
\end{align*}
$$

## Binet's Formulas:

$$
\begin{array}{ll}
U_{n}(x)=\frac{\alpha^{n}-\beta^{n}}{\alpha-\beta}, & \text { from [1] } \\
u_{n}(x)=\frac{\alpha^{n+1 / 2}+\beta^{n+1 / 2}}{\alpha^{1 / 2}+\beta^{1 / 2}}, & \text { from (1.5) and (1.15a) } \\
v_{n}(x)=\frac{\alpha^{n+1 / 2}-\beta^{n+1 / 2}}{\alpha^{1 / 2}-\beta^{1 / 2}}, & \text { from (1.6) and (1.15a) } \\
V_{n}(x)=\alpha^{n}+\beta^{n}, & \text { from [2], } \tag{1.15d}
\end{array}
$$

where

$$
\begin{gather*}
\alpha+\beta=x+p, \alpha \beta=q  \tag{1.16a}\\
\alpha-\beta=\sqrt{\Delta}, \Delta=\Delta_{u} \Delta_{v}=(x+p)^{2}-4 q \tag{1.16b}
\end{gather*}
$$

## 2. NEW INTERRELATIONSHIPS

In this section, we will give a number of interesting relations between the André-Jeannin polynomials $U_{n}(x), V_{n}(x)$, and their companions $u_{n}(x), v_{n}(x)$. In order to present the results in a compact form, we will denote by $A_{n}(x)$ any one of the polynomials $U_{n}(x), u_{n}(x), v_{n}(x)$, or $V_{n}(x)$. We will first establish the following Lemma concerning $A_{n}(x)$ that is extremely useful in establishing certain relations needed to derive the results given in Section 4.
Lemma 1: $\quad A_{n}(x) U_{r-h+2}(x)=A_{r}(x) U_{n-h+2}(x)-q^{r-h+2} A_{h-2}(x) U_{n-r}(x)$.
Proof: We confine ourselves to establishing the result when $A_{n}(x) \equiv U_{n}(x)$. Using (1.15a), we have

$$
\begin{aligned}
U_{n}(x) & U_{r-h+2}(x)-U_{r}(x) U_{n-h+2}(x) \\
& =\frac{\alpha^{n}-\beta^{n}}{\alpha-\beta} \cdot \frac{\alpha^{r-h+2}-\beta^{r-h+2}}{\alpha-\beta}-\frac{\alpha^{r}-\beta^{r}}{\alpha-\beta} \cdot \frac{\alpha^{n-h+2}-\beta^{n-h+2}}{\alpha-\beta} \\
& =\frac{-(\alpha \beta)^{r-h+2}}{(\alpha-\beta)^{2}}\left[\left\{\alpha^{n-r+h-2}+\beta^{n-r+h-2}\right\}-\left\{\alpha^{n-r} \beta^{h-2}+\beta^{n-r} \alpha^{h-2}\right\}\right] \\
& =-(\alpha \beta)^{r-h+2} \cdot \frac{\alpha^{h-2}-\beta^{h-2}}{\alpha-\beta} \cdot \frac{\alpha^{n-r}-\beta^{n-r}}{\alpha-\beta} \\
& =q^{r-h+2} U_{h-2}(x) U_{n-r}(x), \text { using (1.16a) and (1.15a) }
\end{aligned}
$$

In a similar manner, Lemma 1 can be established when $A_{n}(x) \equiv u_{n}(x), v_{n}(x)$, and $V_{n}(x)$ by using (1.15a) along with (1.15b), (1.15c), and (1.15d), respectively.

By letting $r=n-h+1$ and $h=n-r+1$ in (2.1), we get the following result:

$$
\begin{equation*}
A_{n}(x) U_{r-h+2}(x)=A_{n-h+1}(x) U_{r+1}(x)-q^{r-h+2} A_{n-r-1}(x) U_{h-1}(x) . \tag{2.2}
\end{equation*}
$$

Now, by equating the right-side expressions in (2.1) and (2.2) and rearranging, we get the determinantal relation

$$
\left|\begin{array}{cc}
U_{r+1}(x) & U_{n-h+2}(x)  \tag{2.3}\\
A_{r}(x) & A_{n-h+1}(x)
\end{array}\right|=q^{r-h+2}\left|\begin{array}{cc}
U_{h-1}(x) & U_{n-r}(x) \\
A_{h-2}(x) & A_{n-r-1}(x)
\end{array}\right| .
$$

Now, letting $r=m, h=m-r+2$, and $n=m+n+1-r$ in (2.3), we get the interesting relation

$$
\left|\begin{array}{cc}
U_{m+1}(x) & U_{n+1}(x)  \tag{2.4}\\
A_{m}(x) & A_{n}(x)
\end{array}\right|=q^{r}\left|\begin{array}{cc}
U_{m+1-r}(x) & U_{n+1-r}(x) \\
A_{m-r}(x) & A_{n-r}(x)
\end{array}\right| .
$$

Now letting $h=2, n=n+1$, and $r=n$ in (2.1), we have

$$
\begin{equation*}
U_{n+1}(x) A_{n}(x)-A_{n+1}(x) U_{n}(x)=q^{n} A_{0}(x) \tag{2.5}
\end{equation*}
$$

Also, letting $m=r=n-1$ in (2.4), we get

$$
\begin{equation*}
U_{n+1}(x) A_{n-1}(x)-U_{n}(x) A_{n}(x)=q^{n-1}\left[(x+p) A_{0}(x)-A_{1}(x)\right] . \tag{2.6}
\end{equation*}
$$

It is observed that when $A_{n}(x) \equiv U_{n}(x)$, (2.6) reduces to (1.13a). Now, by letting $n=m+n+1$, $h=n+2$, and $r=n+1$ in (2.1), we have the relation

$$
\begin{equation*}
A_{m+n+1}(x)=U_{m+1}(x) A_{n+1}(x)-q U_{m}(x) A_{n}(x) . \tag{2.7}
\end{equation*}
$$

Hence,

$$
\begin{equation*}
A_{2 n+1}(x)=U_{n+1}(x) A_{n+1}(x)-q U_{n}(x) A_{n}(x) \tag{2.8}
\end{equation*}
$$

and

$$
\begin{equation*}
A_{2 n}(x)=U_{n}(x) A_{n+1}(x)-q U_{n-1}(x) A_{n}(x)=A_{n}(x) U_{n+1}(x)-q A_{n-1}(x) U_{n}(x) \tag{2.9}
\end{equation*}
$$

We may derive a number of other interesting relations. However, we present only a few of these relations that will be useful in deriving the results of Section 4:

$$
\begin{align*}
& u_{n-1}(x) v_{n}(x)-u_{n}(x) v_{n-1}(x)=2 q^{n-1 / 2},  \tag{2.10a}\\
& u_{n-1}(x) V_{n}(x)-u_{n}(x) V_{n-1}(x)=-q^{n-1} \Delta_{u} \tag{2.10b}
\end{align*}
$$

$$
\begin{align*}
& v_{n-1}(x) V_{n}(x)-v_{n}(x) V_{n-1}(x)=-q^{n-1} \Delta_{\nu}  \tag{2.10c}\\
& \sum_{r=0}^{n} q^{n-r} A_{2 r+1}(x)=A_{n+1}(x) U_{n+1}(x),  \tag{2.11a}\\
& \sum_{r=0}^{n} q^{n-r} A_{2 r}(x)=A_{n}(x) U_{n+1}(x),  \tag{2.11b}\\
& \sum_{r=1}^{n} q^{n-r} A_{2 r}(x)=U_{n}(x) A_{n+1}(x) \tag{2.11c}
\end{align*}
$$

In passing, it may be mentioned that, if we let $p=2, q=1$, and $x=1$, we have

$$
\begin{equation*}
U_{n}(1)=F_{2 n}, u_{n}(1)=F_{2 n+1}, v_{n}(1)=L_{2 n+1}, V_{n}(1)=L_{2 n} . \tag{2.12}
\end{equation*}
$$

Using identities (2.1)-(2.11), we may derive a number of interesting identities for Fibonacci and Lucas numbers. One such identity is the following, which may be obtained by letting $A_{n}(1)=V_{n}(1)$ in (2.5):

$$
\begin{equation*}
F_{2(n+1)} L_{2 n}-F_{2 n} L_{2(n+1)}=2 \tag{2.13}
\end{equation*}
$$

## 3. DERIVATIVES AND DIFFERENTIAL EQUATIONS

We now derive formulas for the derivatives of $U_{n}(x), u_{n}(x), v_{n}(x)$, and $V_{n}(x)$ with respect to $x$.

## Theorem 1:

$$
\begin{equation*}
U_{n}^{\prime}(x)=\sum_{r=1}^{n-1} U_{r}(x) U_{n-r}(x) \tag{3.1}
\end{equation*}
$$

Proof: We establish the theorem by induction. The result is easily verified to be true for $n=1,2$, and 3 . Now, assuming the theorem to be true for $n$ and $n+1$, we have

$$
\begin{align*}
U_{n+2}^{\prime}(x) & =(x+p) U_{n+1}^{\prime}(x)-q U_{n}^{\prime}(x)+U_{n+1}(x), \text { using (1.3a) } \\
& =(x+p) \sum_{r=1}^{n} U_{r}(x) U_{n+1-r}(x)-q \sum_{r=1}^{n-1} U_{r}(x) U_{n-r}(x)+U_{n+1}(x) \\
& =\sum_{r=1}^{n-1} U_{r}(x)\left[(x+p) U_{n+1-r}(x)-q U_{n-r}(x)\right]+(x+p) U_{n}(x) U_{1}(x)+U_{n+1}(x)  \tag{x}\\
& =\sum_{r=1}^{n-1} U_{r}(x) U_{n+2-r}(x)+U_{n}(x) U_{2}(x)+U_{n+1}(x)=\sum_{r=1}^{n+1} U_{r}(x) U_{n+2-r}(x) .
\end{align*}
$$

Hence the theorem.
Corollary 1:

$$
\begin{equation*}
u_{n}^{\prime}(x)=\sum_{r=1}^{n} U_{r}(x) u_{n-r}(x) . \tag{3.2}
\end{equation*}
$$

Proof:

$$
\begin{aligned}
u_{n}^{\prime}(x) & =U_{n+1}^{\prime}(x)-\sqrt{q} U_{n}^{\prime}(x), \text { using }(1.5), \\
& =\sum_{r=1}^{n} U_{r}(x) U_{n+1-r}(x)-\sqrt{q} \sum_{r=1}^{n-1} U_{r}(x) U_{n-r}(x), \text { from Theorem 1, }
\end{aligned}
$$

$$
\begin{aligned}
& =U_{n}(x) U_{1}(x)+\sum_{r=1}^{n-1} U_{r}(x)\left[U_{n+1-r}(x)-\sqrt{q} U_{n-r}(x)\right] \\
& =U_{n}(x) u_{0}(x)+\sum_{r=1}^{n-1} U_{r}(x) u_{n-r}(x), \text { from (1.5), } \\
& =\sum_{r=1}^{n} U_{r}(x) u_{n-r}(x)
\end{aligned}
$$

## Corollary 2:

$$
\begin{equation*}
v_{n}^{\prime}(x)=\sum_{r=1}^{n} U_{r}(x) v_{n-r}(x) \tag{3.3}
\end{equation*}
$$

This corollary can be proved along the same lines as Corollary 1, using relation (1.6) and Theorem 1.

$$
\begin{equation*}
\text { Corollary 3: } \quad V_{n}^{\prime}(x)=\sum_{r=1}^{n} U_{r}(x) V_{n-r}(x)-U_{n}(x) \tag{3.4}
\end{equation*}
$$

This corollary can be established using (1.9) and Corollary 2.
It is also known that (see [2])

$$
\begin{equation*}
V_{n}^{\prime}(x)=n U_{n}(x) . \tag{3.5}
\end{equation*}
$$

By induction, we may derive the following similar results for the derivatives of $u_{n}(x)$ and $v_{n}(x)$ in terms of $U_{n}(x)$.
Theorem 2:

$$
\begin{equation*}
(x+p+2 \sqrt{q}) u_{n}^{\prime}(x)=n U_{n+1}(x)+\sqrt{q}(n+1) U_{n}(x) \tag{3.6}
\end{equation*}
$$

Theorem 3: $\quad(x+p-2 \sqrt{q}) v_{n}^{\prime}(x)=n U_{n+1}(x)-\sqrt{q}(n+1) U_{n}(x)$.
In passing, it may be observed that, from (3.4) and (3.5), we have the following interesting relation:

$$
\begin{equation*}
\sum_{r=1}^{n} U_{r}(x) V_{n-r}(x)=(n+1) U_{n}(x) \tag{3.8}
\end{equation*}
$$

André-Jeannin [3] has shown that $U_{n}(x)$ and $U_{n}(x)$ satisfy, respectively, the differential equations

$$
\begin{equation*}
U_{n}(x): \Delta y^{\prime \prime}+3(x+p) y^{\prime}-\left(n^{2}-1\right) y=0 \tag{3.9}
\end{equation*}
$$

and

$$
\begin{equation*}
V_{n}(x): \Delta y^{\prime \prime}+(x+p) y^{\prime}-n^{2} y=0 \tag{3.10}
\end{equation*}
$$

where $\Delta$ is given by (1.16b). We now establish similar differential equations satisfied by $u_{n}(x)$ and $v_{n}(x)$.

Theorem 4: The polynomial $u_{n}(x)$ satisfies the differential equation

$$
\Delta y^{\prime \prime}+2(x+p-\sqrt{q}) y^{\prime}-n(n+1) y=0
$$

Proof: Since $U_{n}(x)$ satisfies the differential equation given by (3.9), we have

$$
\begin{equation*}
\Delta U_{n+1}^{\prime \prime}(x)+3(x+p) U_{n+1}^{\prime}(x)-n(n+2) U_{n+1}(x)=0 \tag{3.11}
\end{equation*}
$$

and

$$
\begin{equation*}
\Delta U_{n}^{\prime \prime}(x)+3(x+p) U_{n}^{\prime}(x)-\left(n^{2}-1\right) U_{n}(x)=0 . \tag{3.12}
\end{equation*}
$$

Multiplying (3.12) by $\sqrt{q}$, then subtracting it from (3.11) and making use of relation (1.5) in the resulting equation, we get

$$
\begin{equation*}
\Delta u_{n}^{\prime \prime}(x)+3(x+p) u_{n}^{\prime}(x)-n(n+1) u_{n}(x)-\left[n U_{n+1}(x)+(n+1) \sqrt{q} U_{n}(x)\right]=0 . \tag{3.13}
\end{equation*}
$$

Use of Theorem 2 reduces (3.13) to

$$
\begin{equation*}
\Delta u_{n}^{\prime \prime}(x)+2(x+p-\sqrt{q}) u_{n}^{\prime}(x)-n(n+1) u_{n}(x)=0 . \tag{3.14}
\end{equation*}
$$

Hence the theorem.
Similarly, by using (1.6), (3.9), and Theorem 3, we can prove the following result regarding $v_{n}(x)$.

Theorem 5: The polynomial $v_{n}(x)$ satisfies the differential equation

$$
\begin{equation*}
\Delta y^{\prime \prime}+2(x+p+\sqrt{q}) y^{\prime}-n(n+1) y=0 . \tag{3.15}
\end{equation*}
$$

André-Jeannin [3] has further shown that $U_{n}^{(k)}(x)$ and $V_{n}^{(k)}(x), k=0,1,2, \ldots$, where the superscript ( $k$ ) stands for the $k^{\text {th }}$ derivative with respect to $x$, satisfies the following differential equations:

$$
\begin{gather*}
U_{n}^{(k)}(x): \Delta y^{\prime \prime}+(2 k+3)(x+p) y^{\prime}+\left\{(k+1)^{2}-n^{2}\right\} y=0  \tag{3.16a}\\
V_{n}^{(k)}(x): \Delta y^{\prime \prime}+(2 k+1)(x+p) y^{\prime}+\left(k^{2}-n^{2}\right) y=0 . \tag{3.16b}
\end{gather*}
$$

Using a similar procedure, and using Theorems 4 and 5 , we may also establish that $u_{n}^{(k)}(x)$ and $v_{n}^{(k)}(x)$ satisfy the following differential equations:

$$
\begin{align*}
& u_{n}^{(k)}(x): \Delta y^{\prime \prime}+2(k+1)(x+p-\sqrt{q}) y^{\prime}+\{k(k+1)-n(n+1)\} y=0,  \tag{3.16c}\\
& v_{n}^{(k)}(x): \Delta y^{\prime \prime}+2(k+1)(x+p+\sqrt{q}) y^{\prime}+\{k(k+1)-n(n+1)\} y=0 . \tag{3.16d}
\end{align*}
$$

It may be pointed out that the above two differential equations are, respectively, the generalizations of the corresponding ones for the modified Morgan-Voyce polynomials $\widetilde{b}_{n}(x)$ and $\widetilde{c}_{n}(x)$ given in [4].

## 4. INTEGRAL PROPERTIES

From (3.5), we have the result

$$
\begin{equation*}
\int U_{n}(x) d x=\frac{V_{n}(x)}{n}+K . \tag{4.1}
\end{equation*}
$$

Hence,

$$
\begin{align*}
& \int u_{n}(x) d x=\frac{V_{n+1}(x)}{n+1}-\sqrt{q} \frac{V_{n}(x)}{n}+K, \text { from }(1.5) \text { and }(4.1),  \tag{4.2}\\
& \int v_{n}(x) d x=\frac{V_{n+1}(x)}{n+1}+\sqrt{q} \frac{V_{n}(x)}{n}+K, \text { from }(1.6) \text { and }(4.1), \tag{4.3}
\end{align*}
$$

and

$$
\begin{equation*}
\int V_{n}(x) d x=\frac{V_{n+1}(x)}{n+1}-q \frac{V_{n-1}(x)}{n}+K, \text { from (1.7) and (4.1). } \tag{4.4}
\end{equation*}
$$

Let us denote

$$
\begin{equation*}
a=-p-2 \sqrt{q}, \quad b=-p+2 \sqrt{q} . \tag{4.5}
\end{equation*}
$$

Then we can establish by induction that

$$
\begin{equation*}
V_{n}(a)=(-1)^{n} 2 q^{n / 2}, \quad V_{n}(b)=2 q^{n / 2} . \tag{4.6}
\end{equation*}
$$

Using (4.6) in (4.1), (4.2), (3.3), and (4.4), we have the following results:

$$
\begin{gather*}
\int_{a}^{b} U_{2 n}(x) d x=0,  \tag{4.7a}\\
\int_{a}^{b} U_{2 n+1}(x) d x=\frac{4}{2 n+1} q^{n+1 / 2},  \tag{4.7b}\\
\int_{a}^{b} u_{2 n}(x) d x=-\int_{a}^{b} u_{2 n+1}(x) d x=\frac{4}{2 n+1} q^{n+1},  \tag{4.8}\\
\int_{a}^{b} v_{2 n}(x) d x=\int_{a}^{b} v_{2 n+1}(x) d x=\frac{4}{2 n+1} q^{n+1},  \tag{4.9}\\
\int_{a}^{b} V_{2 n}(x) d x=-\frac{8}{4 n^{2}-1} q^{n+1 / 2},  \tag{4.10a}\\
\int_{a}^{b} V_{2 n+1}(x) d x=0 . \tag{4.10b}
\end{gather*}
$$

Letting $A_{n}(x) \equiv U_{n}(x)$ in (2.11b) and using (4.7a), we see that

$$
\begin{equation*}
\int_{a}^{b} U_{n+1}(x) U_{n}(x) d x=0 \tag{4.11a}
\end{equation*}
$$

Also, by letting $A_{n}(x) \equiv U_{n}(x)$ in (2.11a) and using (4.7b), we have

$$
\int_{a}^{b} U_{n+1}^{2}(x) d x=\sum_{r=0}^{n} q^{n-r} \frac{4 q^{r+1 / 2}}{2 r+1}=\sum_{r=0}^{n} \frac{4 q^{n+1 / 2}}{2 r+1} .
$$

Hence,

$$
\begin{equation*}
\int_{a}^{b} U_{n}^{2}(x) d x=4 q^{n-1 / 2} \sum_{r=0}^{n} \frac{1}{2 r+1} . \tag{4.11b}
\end{equation*}
$$

Now, integrating (1.13a) and using (4.11b), we have

$$
\begin{equation*}
\int_{a}^{b} U_{n+1}(x) U_{n-1}(x) d x=4 q^{n-1 / 2} \sum_{r=0}^{n-1} \frac{1}{2 r+1} . \tag{4.11c}
\end{equation*}
$$

Similarly, by successively letting $A_{n}(x) \equiv u_{n}(x), v_{n}(x)$, and $V_{n}(x)$ in (2.11c), (2.11a), and (2.11b) and using (4.8), (4.9), (4.10a), and (4.10b), we can derive the following relations:

$$
\begin{gather*}
\int_{a}^{b} u_{n+1}(x) U_{n}(x) d x=\int_{a}^{b} v_{n+1}(x) U_{n}(x) d x=4 q^{n+1 / 2} \sum_{r=1}^{n} \frac{1}{2 r+1},  \tag{4.12a}\\
\int_{a}^{b} V_{n+1}(x) U_{n}(x) d x=-\frac{8 n}{2 n+1} q^{n+1 / 2},  \tag{4.12b}\\
\int_{a}^{b} u_{n}(x) U_{n}(x) d x=-\int_{a}^{b} v_{n}(x) U_{n}(x) d x=-4 q^{n} \sum_{r=0}^{n-1} \frac{1}{2 r+1},  \tag{4.13a}\\
\int_{a}^{b} V_{n}(x) U_{n}(x) d x=0, \tag{4.13b}
\end{gather*}
$$

$$
\begin{gather*}
\int_{a}^{b} u_{n}(x) U_{n+1}(x) d x=\int_{a}^{b} v_{n}(x) U_{n+1}(x) d x=4 q^{n+1 / 2} \sum_{r=0}^{n} \frac{1}{2 r+1}  \tag{4.14a}\\
\int_{a}^{b} V_{n}(x) U_{n+1}(x) d x=\frac{8(n+1)}{2 n+1} q^{n+1 / 2} \tag{4.14b}
\end{gather*}
$$

Corresponding to the relations (4.11a), (4.11b), and (4.11c) for $U_{n}(x)$, we may derive relations for the polynomials $u_{n}(x), v_{n}(x)$, and $V_{n}(x)$. Substituting (1.5) and (1.6), respectively, for $u_{n}(x)$ and $v_{n}(x)$ in the expressions $u_{n+1}(x) u_{n}(x)$ and $v_{n+1}(x) v_{n}(x)$, and utilizing the relations (4.12a) and (4.13a), we have

$$
\begin{equation*}
\int_{a}^{b} u_{n+1}(x) u_{n}(x) d x=-\int_{a}^{b} v_{n+1}(x) v_{n}(x) d x=-4 q^{n-1}\left[1+2 \sum_{r=1}^{n} \frac{1}{2 r+1}\right] . \tag{4.15a}
\end{equation*}
$$

Substituting (1.5) and (1.6) in the expressions $u_{n}^{2}(x)$ and $v_{n}^{2}(x)$ and using (4.11a) and (4.11b), we get

$$
\begin{equation*}
\int_{a}^{b} u_{n}^{2}(x) d x=\int_{a}^{b} v_{n}^{2}(x) d x=4 q^{n+1 / 2}\left[\frac{1}{2 n+1}+2 \sum_{r=0}^{n-1} \frac{1}{2 r+1}\right] \tag{4.15b}
\end{equation*}
$$

Now, integrating both sides of (1.13b) and (1.13c) and using (4.15b), we derive

$$
\begin{equation*}
\int_{a}^{b} u_{n+1}(x) u_{n-1}(x) d x=\int_{a}^{b} v_{n+1}(x) v_{n-1}(x) d x=4 q^{n+1 / 2}\left[\frac{1}{2 n+1}+2 \sum_{r=1}^{n-1} \frac{1}{2 r+1}\right] . \tag{4.15c}
\end{equation*}
$$

The corresponding expressions involving $V_{n}(x)$ may be derived using (1.8), (1.9), (1.13d), (4.15a), (4.15b), and (4.15c). These are:

$$
\begin{gather*}
\int_{a}^{b} V_{n+1}(x) V_{n}(x) d x=0,  \tag{4.16a}\\
\int_{a}^{b} V_{n}^{2}(x) d x=\frac{16\left(2 n^{2}-1\right)}{\left(4 n^{2}-1\right)} q^{n+1 / 2},  \tag{4.16b}\\
\int_{a}^{b} V_{n+1}(x) V_{n-1}(x) d x=-\frac{16\left(2 n^{2}+1\right)}{3\left(4 n^{2}-1\right)} q^{n+1 / 2} . \tag{4.16c}
\end{gather*}
$$

In a similar manner, we can derive relations regarding integrals involving $u_{n}(x)$ and $v_{n}(x), u_{n}(x)$ and $V_{n}(x)$, and $v_{n}(x)$ and $V_{n}(x)$. These correspond to relations (4.12a), (4.12b), and (4.12c) which, respectively, involve $u_{n}(x)$ and $U_{n}(x), v_{n}(x)$ and $U_{n}(x)$, and $V_{n}(x)$ and $U_{n}(x)$. These are:

$$
\begin{gather*}
\int_{a}^{b} u_{n}(x) v_{n+1}(x) d x=-\int_{a}^{b} v_{n}(x) u_{n+1}(x) d x=4 q^{n+1},  \tag{4.17a}\\
\int_{a}^{b} u_{n}(x) v_{n}(x) d x=\frac{4}{2 n+1} q^{n+1 / 2},  \tag{4.17b}\\
\int_{a}^{b} u_{n}(x) V_{n+1}(x) d x=-\int_{a}^{b} v_{n}(x) V_{n+1}(x) d x=\frac{8 n}{2 n+1} q^{n+1},  \tag{4.18a}\\
\int_{a}^{b} u_{n}(x) V_{n}(x) d x=\int_{a}^{b} v_{n}(x) V_{n}(x) d x=\frac{8(n+1)}{2 n+1} q^{n+1 / 2},  \tag{4.18b}\\
\int_{a}^{b} u_{n+1}(x) V_{n}(x) d x=-\int_{a}^{b} v_{n+1}(x) V_{n}(x) d x=\frac{8(n+1)}{2 n+1} q^{n+1} . \tag{4.18c}
\end{gather*}
$$

## ACKNOWLEDGMENT

I would like to thank the anonymous referee for many helpful suggestions and comments that improved the presentation of this paper.

## REFERENCES

1. R. André-Jeannin. "A Note on a General Class of Polynomials." The Fibonacci Quarterly 32.5 (1994):445-54.
2. R. André-Jeannin. "A Note on a General Class of Polynomials, Part II." The Fibonacci Quarterly 33.4 (1995):341-51.
3. R. André-Jeannin. "Differential Properties of a General Class of Polynomials." The Fibonacci Quarterly 33.5 (1995):453-57.
4. M. N. S. Swamy. "On a Class of Generalized Polynomials." The Fibonacci Quarterly 35.4 (1997):329-34.

AMS Classification Numbers: 11B39, 26A06


## NEW PROBLEM WEB SITE

Readers of The Fibonacci Quarterly will be pleased to know that many of its problems can now be searched electronically (at no charge) on the World Wide Web at

> http://problems.math.umr.edu

Over 20,000 problems from 38 journals and 21 contests are referenced by the site, which was developed by Stanley Rabinowitz's MathPro Press. Ample hosting space for the site was generously provided by the Department of Mathematics and Statistics at the University of MissouriRolla, through Leon M. Hall, Chair.

Problem statements are included in most cases, along with proposers, solvers (whose solutions were published), and other relevant bibliographic information. Difficulty and subject matter vary widely; almost any mathematical topic can be found.

The site is being operated on a volunteer basis. Anyone who can donate journal issues or their time is encouraged to do so. For further information, write to:

Mr. Mark Bowron<br>Director of Operations, MathPro Press<br>P.O. Box 713<br>Westford, MA 01886 USA<br>bowron@my-deja.com

